
k, 1991 WOCOMAL VARSITY MEET

ROIJNC I : Arithmetic - pe rcen t , i n t e r e s t , d i scoun t , f r a c t i o n s ,
and decimals

ALL ANSWERS KU?T BE TN SIMPLEST EXAOT FORM
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^O'JliD I I : Set t h e o r y a n i l o ^ l c
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ROUND I I I : A l ^ e b ^ a 1 - o p e n

ALL ANSWERS TJ£T BE FXPRESSED IN SIMPLEST EXACT FORM
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-Ol'N'D IV: Sequences end s e r i e s

ALL A.NT-AKRS MTJST BE TN SIMPLES"1 EXACT FORM

7
/ . Eva tad fe

ANSWER?

(1 pt ) 1 .

(2 pts) 2.

(3 ptp) 3.

2. If fac geometric m*os are inserted 6oWn ? a»J SZ32

•ftnJ itfe tef& farm /A tf\e JemdrX se^ascc fif^i sWis

J

3'. ff> * CCfhto, Od'H^ctic seqvtnce uiih i/'esr TWM 3 , jinc rvna

if f(e -fdurtU y*ryw Vo He nfoii "/<?r/n /$ Cf\ja( /o

Me StrtniL ten* ^ tt *fKtef>tt krm. FWJ tfe

Bart. 1 - i t t , BroitiT] P ! d , Fud.?on



December J4 , 1 991

SOUND V: Matrix and determinant operations

ALL ANSWER? MUST BE IN SIMPLEST EXACT FORM

WOCOMAL VARSITY MEET
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ALT ;:;:WERS MUST BE IN SIMPLEST EXACT FORM
AN3 ON' THE ^FPARATE TEA1* A. SWCR FHEPJT

VARSITY MEET
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